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This program consists of 8 registers

The program can handle 5 operands

Mov (mov r1 r2 means replace the value of r2 to r1)
Add (add the second value to the first one)

sub ( subtract the values)

Div ( dividing the values)

vV v v v v v v

Mul ( multiplying the values)




Registers

R1
R2
R3
R4
R5
R6
R7

vV v v v v v Vv




Operands

> add (CC = 1)

> Sub (CC = 2)

: ﬁ\.u | (CCCC;) CPI = total CC(clock circles) values /
VEE=2) total no of CC used

> Mul (CC = 2)




Sample input and out

S AungEclipse - ComArchiProject/src/Calculatejava - Eclipse

File Edit Source Refactor Navigate Search Project Run Window Help

HrEHR@ - B -0 Q-Q-FE-®EF-IP L

1] Caleulstejava 31
oper = in.next(

3

if (oper.equals(*no
R = in.next();
RR = in.next();

)5
v o

if (RR.charAt(@) == 'r') {
if (R.charAt(1) == '1") {
if (RR.charAt(1) == '1') {
rl = ril;
} else if (RR.charAt(1) == '2')
rl = r2;
} else if (RR.charAt(1) == '3")
rl = r3;
} else if (RR.charAt(l) == "4")
rl = ré;
} else if (RR.charAt(l) == '5")
rl o= rs;
} else if (RR.charAt(1l) == '6")
rl = ré;
} else if (RR.charAt(1) == '7')
rl = r7;
H
} else if (R.charAt(l) == '2') {
if (RR.charAt(1) == '1') {
r2 = ril;
} else if (RR.charAt(1) == '2')
r2 = r2;
} else if (RR.charAt(1) == '3')
r2 = r3;
} else if (RR.charAt(1) == '4")
r2 = ra;
} else if (RR.charAt(l) == '5")
r2 = rs;
} else if (RR.charAt(1) == "6")
r2 = ré;
} else if (RR.charAt(1) == '7')
r2 = r7;
H
} else if (R.charAt(l) == '3') {
if (RR.charAt(1) == '1') {
r3 = ril;
} else if (RR.charAt(1) == '2')
r3 = r2;
} else if (RR.charAt(1) == '3')
r3 = r3;
} else if (RR.charAt(1) == '4")
r3 = ra;
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Calculate [Java lication] C:\Program Files\Java\jre1.8.0_144\bin\javaw.exe (May 11, 2018, 2:4%:’
Input ~
add re 5
mov rl 5
mul ro 2
mov r2 ri
sub r2 4
div r2 2
end|
r@ = 10.0[0000 2020 Bede 1010]
rl 5.0[0000 00BO 0000 ©101]
r2 = -2.0[1111 1111 1111 1118]
CPI : 3.333




